Nonlinear Functional Analysis and Applications Vol. 25, No. 2 (2020), pp. 249-259 ISSN: 1229-1595(print), 2466-0973(online)

https://doi.org/10.22771/nfaa.2020.25.02.04 http://nfaa.kyungnam.ac.kr/journal-nfaa Copyright © 2020 Kyungnam University Press



# A FIXED POINT APPROACH TO THE STABILITY OF THE FUNCTIONAL EQUATIONS RELATED TO AN ADDITIVE AND QUARTIC MAPPING

### Sun-Sook Jin and Yang-Hi Lee

Department of Mathematics Education Gongju National University of Education, Gongju 32553, Korea e-mail: ssjin@gjue.ac.kr, yanghi2@hanmail.net

**Abstract.** In this paper, we prove the stability of functional equations related to an additivequartic mapping by using the fixed-point theory, which L. C ădariu and V. Radu used as a way to prove the stability of functional equations.

### 1. INTRODUCTION

In this paper, let V and W be real vector spaces, Y be a real Banach space, and k be a fixed real number such that  $k \neq 0, \pm 1$ . For a given mapping  $f: V \to W$ , we use the following abbreviations:

$$\begin{split} Af(x,y) &:= f(x+y) - f(x) - f(y), \\ Qf(x,y) &:= f(x+2y) - 4f(x+y) + 6f(x) - 4f(x-y) + f(x-2y) - 24f(y), \\ D_1f(x,y) &= f(kx+y) + f(kx-y) - k^2 f(x+y) - k^2 f(x-y) \\ &\quad + \frac{2(k^2-1)}{k^4-k} (f(ky) - kf(y)) - 2f(kx) + 2k^2 f(x), \\ D_2f(x,y) &= f(kx+y) + f(kx-y) - k^2 f(x+y) - k^2 f(x-y) \\ &\quad + (k^2-1)(f(y) + f(-y)) - (k^4 - 2k^2 + k)f(x) - (k^4 - k)f(-x), \end{split}$$

<sup>0</sup>2010 Mathematics Subject Classification: 39B52.

<sup>&</sup>lt;sup>0</sup>Received June 23, 2019. Revised November 19, 2019. Accepted November 21, 2019.

<sup>&</sup>lt;sup>0</sup>Keywords: Fixed point method, additive and quartic functional equation, additive and quartic mapping.

<sup>&</sup>lt;sup>0</sup>Corresponding author: Y.-H. Lee(yanghi2@hanmail.net).

S.-S. Jin and Y.-H. Lee

$$\begin{split} D_3f(x,y) =& f(x+ky) + f(x-ky) - k^2 f(x+y) - k^2 f(x-y) + 2(k^2-1)f(x) \\ &- f(ky) - \frac{k^4 - 2k^2 - k}{2} f(y) - \frac{k^4 - 2k^2 + k}{2} f(-y), \\ D_4f(x,y) =& f(x+ky) + f(x-ky) - k^2 f(x+y) - k^2 f(x-y) \\ &- \frac{2(k^3-k)}{k^3-1} (f(ky) - kf(y)) + 2(k^2-1)f(x), \\ D_5f(x,y) =& f(x+ky) + f(x-ky) - f(kx+y) - f(kx-y) + f(kx) \\ &+ \frac{k^4 + k - 4}{2} f(x) + \frac{k^4 - k}{2} f(-x) - (k^4-1)[f(y) + f(-y)] \end{split}$$

for all  $x, y \in V$ . The stability problem of a group homomorphism was first raised by Ulam [19]. In the next year, Hyers [10] first gave a partial solution to Ulam's question for the case of the functional equation related to additive mappings. Hyers' result has greatly influenced the study of the stability problem of the various functional equations. His result was generalized by Rassias [17] and Găvruta [8].

A solution mapping of the functional equation Af(x, y) = 0 and a solution mapping of the functional equation Qf(x, y) = 0 are called an additive mapping and a quartic mapping, respectively. A mapping f is called an additive and quartic mapping if f is expressed by the sum of an additive mapping and a quartic mapping. A functional equation is called an additive and quartic functional equation provided that each solution of that equation is an additive and quartic mapping and every additive and quartic mapping is a solution of that equation. Many mathematicians investigated the stability of the additive and quartic functional equations [1, 2, 7, 9, 11, 13, 14, 15, 16, 18]. They [1, 2, 3, 9, 11, 12, 13, 16, 18] showed that the functional equations  $D_i f(x, y) = 0$ , (i = 1, 2, 4, 5) are additive and quartic functional equations  $D_i f(x, y) = 0$  when k = 2 by handling the additive part and the quartic part of the given mapping f, respectively.

In this paper, we will show that every solution of the functional equation  $D_i f(x, y) = 0$  is an additive and quartic mapping and prove the stability of the function equation  $D_i f(x, y) = 0$  when k is a real number, which is a generalization of the function equation  $D_i f(x, y) = 0$  when k = 2. Also we will not split the given mapping  $f: V \to Y$  into two parts to prove the stability of the functional equations  $D_i f(x, y) = 0$ . We will prove the stability of the functional equations  $D_i f(x, y) = 0$ . We will prove the stability of the functional equations  $D_i f(x, y) = 0$ , (i = 1, 2, 3, 4, 5) at once by using the fixed point theory in the sense of Cădariu and Radu [4, 5].

In other words, for a given mapping f that approximately satisfies the functional equation  $D_i f(x, y) = 0$ , we will show that the mapping F, which

is the solution of the functional equation  $D_i F(x, y) = 0$ , can be constructed using the formula

$$F(x) = \lim_{n \to \infty} \left( \frac{f(k^n x) + f(-k^n x)}{2 \cdot k^{4n}} + \frac{f(k^n x) - f(-k^n x)}{2 \cdot k^n} \right)$$

 $\operatorname{or}$ 

$$F(x) = \lim_{n \to \infty} \left( \frac{k^n}{2} \left( f\left(\frac{x}{k^n}\right) - f\left(-\frac{x}{k^n}\right) \right) + \frac{k^{4n}}{2} \left( f\left(\frac{x}{k^n}\right) + f\left(-\frac{x}{k^n}\right) \right) \right)$$

for all  $x \in V$ , and we will prove that the mapping F exists uniquely near the mapping f.

## 2. Main results

To prove the main theorem, we need to mention the following fixed-point theorem of Margolis and Diaz:

**Theorem 2.1.** ([6]) Suppose that a complete generalized metric space (X, d), which means that the metric d may assume infinite values, and a strictly contractive mapping  $J : X \to X$  with the Lipschitz constant 0 < L < 1 are given. Then, for each given element  $x \in X$ , either

$$d(J^n x, J^{n+1} x) = +\infty, \ \forall n \in \mathbb{N} \cup \{0\},\$$

or there exists a nonnegative integer k such that:

- (1)  $d(J^n x, J^{n+1} x) < +\infty$  for all  $n \ge k$ ;
- (2) the sequence  $\{J^n x\}$  is convergent to a fixed point  $y^*$  of J;
- (3)  $y^*$  is the unique fixed point of J in  $Y := \{y \in X, d(J^k x, y) < +\infty\};$
- (4)  $d(y, y^*) \le (1/(1-L))d(y, Jy)$  for all  $y \in Y$ .

**Lemma 2.2.** Let i be a fixed integer such that  $i \in \{1, 2, 3, 4, 5\}$ . Then the equalities

$$f(x) - \frac{k^3 + 1}{2k^4} f(kx) + \frac{k^3 - 1}{2k^4} f(-kx) = E_i(x), \qquad (2.1)$$

$$f(x) - \frac{k^4 + k}{2} f\left(\frac{x}{k}\right) - \frac{k^4 - k}{2} f\left(\frac{-x}{k}\right) = E'_i f(x)$$

$$(2.2)$$

hold for all  $x \in V$ , where f(0) = 0 and the mappings  $E_i f, E'_i f: V \to W$  are given by

$$\begin{split} E_1 f(x) &= \frac{-(k^2 + k + 1)(k^3 + 1)D_1 f(0, x) + (k^2 + k + 1)(k^3 - 1)D_1 f(0, -x)}{4(k + 1)k^3}, \\ E_2 f(x) &= \frac{-(k^3 + 1)D_2 f(x, 0) + (k^3 - 1)D_2 f(-x, 0)}{4k^4}, \\ E_3(x) &= \frac{(k^3 - 1)D_3 f(0, x) - (k^3 + 1)D_3 f(0, -x)}{2k^4}, \\ E_4(x) &= \frac{(k^2 + k + 1)(k^2 - k - 1)D_4 f(0, x)}{4(k^5 + k^4)} \\ &- \frac{(k^2 + k + 1)(k^2 + k + 1)D_4 f(0, -x)}{4(k^5 + k^4)}, \\ E_5(x) &= \frac{(k^3 + 1)D_5 f(x, 0) - (k^3 - 1)D_5 f(-x, 0)}{2k^4}, \\ E_1' f(x) &= \frac{(k^4 - k)D_1 f(0, \frac{x}{k})}{2(k^2 - 1)}, \\ E_2' f(x) &= \frac{D_2 f\left(\frac{x}{k}, 0\right)}{2}, \\ E_3' f(x) &= D_3 f\left(0, \frac{-x}{k}\right), \\ E_4' f(x) &= \frac{(k^2 + k + 1)(k^2 + k - 1)D_4 f\left(0, \frac{x}{k}\right)}{4(k^2 + k)} \\ &+ \frac{(k^2 + k + 1)(k^2 + k - 1)D_4 f\left(0, \frac{-x}{k}\right)}{4(k^2 + k)}, \\ E_5' f(x) &= -D_5 f\left(\frac{x}{k}, 0\right) \\ for all x \in V. \end{split}$$

Now we can prove some stability results of the functional equation  $D_i F(x, y) = 0$  (i = 1, 2, 3, 4, 5) by using the fixed point theory.

**Theorem 2.3.** Let *i* be a fixed integer such that  $i \in \{1, 2, 3, 4, 5\}$  and let  $\varphi: V^2 \to [0, \infty)$  be a given function and |k| > 1. Suppose that the mapping  $f: V \to Y$  satisfies the inequality

$$\|D_i f(x, y)\| \le \varphi(x, y) \tag{2.3}$$

for all  $x, y \in V$  and f(0) = 0. If there exists a constant 0 < L < 1 such that  $\varphi$  has the property

$$\varphi(kx, ky) \le kL\varphi(x, y) \tag{2.4}$$

for all  $x, y \in V$ , then there exists a unique mapping  $F: V \to Y$  such that

$$\|f(x) - F(x)\| \le \frac{\Phi_i(x)}{1 - L} \tag{2.5}$$

for all  $x \in V$  and  $D_iF(x, y) = 0$  for all  $x, y \in V$ , where  $\varphi_e : V^2 \to [0, \infty)$  and  $\Phi_i$  are defined by

$$\begin{split} \varphi_e(x,y) &:= \frac{\varphi(x,y) + \varphi(-x,-y)}{2}, \\ \Phi_1 f(x) &:= \frac{|k^2 + k + 1|(|k|^3 + 1)\varphi_e(0,x)}{2|k + 1||k|^3}, \\ \Phi_2 f(x) &:= \frac{(|k|^3 + 1)\varphi_e(x,0)}{2k^4}, \\ \Phi_3(x) &:= \frac{(|k|^3 + 1)\varphi_e(0,x)}{k^4}, \\ \Phi_4(x) &:= \frac{(k^2 + |k| + 1)^2\varphi_e(0,x)}{2|k^5 + k^4|}, \\ \Phi_5(x) &:= \frac{(|k|^3 + 1)\varphi_e(x,0)}{k^4}. \end{split}$$

In particular, F is represented by

$$F(x) = \lim_{n \to \infty} \left( \frac{f(k^n x) + f(-k^n x)}{2 \cdot k^{4n}} + \frac{f(k^n x) - f(-k^n x)}{2 \cdot k^n} \right)$$
(2.6)

for all  $x \in V$ .

 $\mathit{Proof.}$  Let  $S = \{g: V \to Y \mid g(0) = 0 \ \}$  and introduce a generalized metric on S by

$$d(g,h) = \inf\{K \in \mathbb{R}^+ \mid ||g(x) - h(x)|| \le K\Phi_i(x), \ x \in V\}.$$

It is easy to show that (S, d) is a generalized complete metric space. Now we consider the mapping  $J: S \to S$ , which is defined by

$$Jg(x) := \frac{g(kx) - g(-kx)}{2 \cdot k} + \frac{g(kx) + g(-kx)}{2 \cdot k^4}$$

for all  $x \in V$ . Let  $g, h \in S$  and let  $K \in [0, \infty]$  be an arbitrary constant with  $d(g, h) \leq K$ . From the definition of d, we have

$$\begin{aligned} \|Jg(x) - Jh(x)\| &\leq \frac{|k^3 + 1|}{2 \cdot |k|^4} \|g(kx) - h(kx)\| + \frac{|k^3 - 1|}{2 \cdot |k|^4} \|g(-kx) - h(-kx)\| \\ &\leq \frac{1}{|k|} K \Phi_i(kx) \\ &\leq K L \Phi_i(x) \end{aligned}$$

for all  $x \in V$ , which implies that

$$d(Jg, Jh) \le Ld(g, h)$$

for any  $g, h \in S$ . That is, J is a strictly contractive self-mapping of S with the Lipschitz constant L. Moreover, by (2.1) and (2.3), we see that

$$||f(x) - Jf(x)|| = ||E_i f(x)|| \le \Phi_i(x)$$

for all  $x \in V$ . It means that  $d(f, Jf) \leq 1 < \infty$  by the definition of d. Therefore according to Theorem 2.1, the sequence  $\{J^n f\}$  converges to the unique fixed point  $F: V \to Y$  of J in the set  $T = \{g \in S \mid d(f,g) < \infty\}$ , which is represented by (2.3) for all  $x \in V$ . Notice that

$$d(f,F) \le \frac{1}{1-L}d(f,Jf) \le \frac{1}{1-L}$$

which implies (2.5). By the definitions of F, together with (2.3) and (2.4), we have that

$$\begin{split} \|D_i f(x,y)\| &= \lim_{n \to \infty} \left\| \frac{D_i(k^n x, k^n y) - D_i f(-k^n x, -, k^n y)}{2 \cdot k^n} \\ &+ \frac{D_i f(k^n x, k^n y) + D_i f(-k^n x, -k^n y)}{2 \cdot k^{4n}} \right\| \\ &\leq \lim_{n \to \infty} \frac{|k|^{3n} + 1}{2 \cdot |k|^{4n}} \left( \varphi(k^n x, k^n y) + \varphi(-k^n x, -k^n y) \right) \\ &\leq \lim_{n \to \infty} \frac{(|k|^{3n} + 1)L^n}{2 \cdot |k|^{3n}} \left( \varphi(x, y) + \varphi(-x, -y) \right) \\ &= 0 \end{split}$$

for all  $x, y \in V$ . So F satisfies  $D_iF(x, y) = 0$  for all  $x, y \in V$ . Notice that if F satisfies the functional equation  $D_iF(x, y) = 0$ , then the equality  $F(x) - JF(x) = E_iF(x)$  implies that F is a fixed point of J. Hence F is unique mapping satisfying (2.5).

**Theorem 2.4.** Let *i* be a fixed integer such that  $i \in \{1, 2, 3, 4, 5\}$  and let  $\varphi : V^2 \to [0, \infty)$  be a given function and |k| < 1. Suppose that the mapping  $f : V \to Y$  satisfies the inequality (2.3) for all  $x, y \in V$  and f(0) = 0. If there exists a constant 0 < L < 1 such that  $\varphi$  has the property

$$\varphi(kx, ky) \le |k|^4 L \varphi(x, y) \tag{2.7}$$

for all  $x, y \in V$ , then there exists a unique mapping  $F : V \to Y$  satisfying (2.5) for all  $x \in V$  and  $D_iF(x, y) = 0$  for all  $x, y \in V$ . In particular, F is represented by (2.3) for all  $x \in V$ .

*Proof.* Let the set (S, d) and the mapping  $J : S \to S$  be as in the proof of Theorem 2.3. Let  $g, h \in S$  and let  $K \in [0, \infty]$  be an arbitrary constant with  $d(g, h) \leq K$ . From the definition of d, we have

$$||Jg(x) - Jh(x)|| \le \frac{1}{|k|^4} K \Phi_i(x) \le K L \Phi_i(x)$$

for all  $x \in V$ , which implies that

$$d(Jg, Jh) \le Ld(g, h)$$

for any  $g, h \in S$ . That is, J is a strictly contractive self-mapping of S with the Lipschitz constant L. Moreover, by (2.1) and (2.3), we see that

$$||f(x) - Jf(x)|| = ||E_i f(x)|| \le \Phi_i(x)$$

for all  $x \in V$ . It means that  $d(f, Jf) \leq 1 < \infty$  by the definition of d. Therefore according to Theorem 2.1, the sequence  $\{J^n f\}$  converges to the unique fixed point  $F: V \to Y$  of J in the set  $T = \{g \in S \mid d(f,g) < \infty\}$ , which is represented by (2.3) for all  $x \in V$ . Notice that

$$d(f,F) \leq \frac{1}{1-L}d(f,Jf) \leq \frac{1}{1-L}$$

which implies (2.5). By the definitions of F, together with (2.3) and (2.7), we have that

$$\|D_i f(x, y)\| \le \lim_{n \to \infty} \frac{|k|^{3n} + 1}{2 \cdot |k|^{4n}} \left(\varphi(k^n x, k^n y) + \varphi(-k^n x, -k^n y)\right)$$
  
$$\le \lim_{n \to \infty} \frac{(|k|^{3n} + 1)L^n}{2} \left(\varphi(x, y) + \varphi(-x, -y)\right)$$
  
=0

for all  $x, y \in V$ . So F satisfies  $D_iF(x, y) = 0$  for all  $x, y \in V$ . Notice that if F satisfies the functional equation  $D_iF(x, y) = 0$ , then the equality  $F(x) - JF(x) = E_iF(x)$  implies that F is a fixed point of J. Hence F is unique mapping satisfying (2.5).

We continue our investigation with the next result.

**Theorem 2.5.** Let *i* be a fixed integer such that  $i \in \{1, 2, 3, 4, 5\}$  and let  $\varphi : V^2 \to [0, \infty)$  and *k* be a real number such that |k| > 1. Suppose that  $f : V \to Y$  satisfies the inequality (2.3) for all  $x, y \in V$  and f(0) = 0. If there exists 0 < L < 1 such that the mapping  $\varphi$  has the property

$$L\varphi(kx, ky) \ge |k|^4 \varphi(x, y) \tag{2.8}$$

for all  $x, y \in V$ , then there exists a unique mapping  $F : V \to Y$  satisfying  $D_k F(x, y) = 0$  for all  $x, y \in V$  and

$$||f(x) - F(x)|| \le \frac{\Psi_i(x)}{1 - L}$$
(2.9)

for all  $x \in V$ , where  $\Psi_i$  is defined by

$$\begin{split} \Psi_1 f(x) &:= \frac{(k^4 + |k|)\varphi_e\left(0, \frac{x}{k}\right)}{|k^2 - 1|}, \\ \Psi_2 f(x) &:= \varphi_e\left(\frac{x}{k}, 0\right), \\ \Psi_3 f(x) &:= 2\varphi_e\left(0, \frac{x}{k}\right), \\ \Psi_4 f(x) &:= \frac{(k^2 + |k| + 1)^2\varphi_e\left(0, \frac{x}{k}\right)}{2|k^2 + k|}, \\ \Psi_5 f(x) &:= 2\varphi_e\left(\frac{x}{k}, 0\right). \end{split}$$

In particular, F is represented by

$$F(x) = \lim_{n \to \infty} \left( \frac{k^n}{2} \left( f\left(\frac{x}{k^n}\right) - f\left(-\frac{x}{k^n}\right) \right) + \frac{k^{4n}}{2} \left( f\left(\frac{x}{k^n}\right) + f\left(-\frac{x}{k^n}\right) \right) \right)$$
(2.10)

for all  $x \in V$ .

*Proof.* Let S be the set of all mappings  $g: V \to Y$  with g(0) = 0 and introduce a generalized metric on S by

$$d(g,h) = \inf\{K \in \mathbb{R}^+ \mid ||g(x) - h(x)|| \le K\Psi_i(x), \ x \in V\}.$$

Now we consider the mapping  $J: S \to S$  defined by

$$Jg(x) := \frac{k}{2} \left( g\left(\frac{x}{k}\right) - g\left(-\frac{x}{k}\right) \right) + \frac{k^4}{2} \left( g\left(\frac{x}{k}\right) + g\left(-\frac{x}{k}\right) \right)$$

for all  $g \in S$  and  $x \in V$ . Let  $g, h \in S$  and let  $K \in [0, \infty]$  be an arbitrary constant with  $d(g, h) \leq K$ . From the definition of d, we have

$$\begin{split} \|Jg(x) - Jh(x)\| &\leq \frac{|k+k^4|}{2} \left\| g\left(\frac{x}{k}\right) - h\left(\frac{x}{k}\right) \right\| + \frac{|k-k^4|}{2} \left\| g\left(-\frac{x}{k}\right) - h\left(-\frac{x}{k}\right) \right\| \\ &\leq |k|^4 K \Psi_i\left(\frac{x}{k}\right) \\ &\leq L K \Psi_i(x) \end{split}$$

for all  $x \in V$ . So

$$d(Jg, Jh) \le Ld(g, h)$$

for any  $g, h \in S$ . That is, J is a strictly contractive self-mapping of S with the Lipschitz constant L. Moreover, by (2.2) and (2.3), we see that

$$||f(x) - Jf(x)|| = ||E'_i f(x)|| \le \Psi_i(x)$$

for all  $x \in V$ , which implies that  $d(f, Jf) \leq 1 < \infty$ . Therefore according to Theorem 2.1, the sequence  $\{J^n f\}$  converges to the unique fixed point F of J in the set  $T := \{g \in S \mid d(f,g) < \infty\}$ , which is represented by (2.10) for all  $x \in V$ .

Notice that

$$d(f, F) \le \frac{1}{1-L}d(f, Jf) \le \frac{1}{1-L}$$

which implies (2.9). From the definition of F(x), (2.3), and (2.8), we have

$$\begin{split} \|D_i F(x,y)\| &= \lim_{n \to \infty} \left\| \frac{k^n}{2} \left( D_i f\left(\frac{x}{k^n}, \frac{y}{k^n}\right) - D_i f\left(-\frac{x}{k^n}, -\frac{y}{k^n}\right) \right) \\ &+ \frac{k^{4n}}{2} \left( D_i f\left(\frac{x}{k^n}, \frac{y}{k^n}\right) + D_i f\left(-\frac{x}{k^n}, -\frac{y}{k^n}\right) \right) \right\| \\ &\leq \lim_{n \to \infty} \frac{|k|^n + |k|^{4n}}{2} \left( \varphi\left(\frac{x}{k^n}, \frac{y}{k^n}\right) + \varphi\left(-\frac{x}{k^n}, -\frac{y}{k^n}\right) \right) \\ &\leq \lim_{n \to \infty} \frac{(|k|^{3n} + 1)L^n}{2 \cdot |k|^{3n}} \left( \varphi(x, y) + \varphi(-x, -y) \right) \\ &= 0 \end{split}$$

for all  $x, y \in V$ . So F satisfies  $D_i F(x, y) = 0$  for all  $x, y \in V$ . Notice that if F satisfies the functional equation  $D_i F(x, y) = 0$ , then the equality

$$F(x) - JF(x) = E'_i F(x)$$

implies that F is a fixed point of J.

**Theorem 2.6.** Let *i* be a fixed integer such that  $i \in \{1, 2, 3, 4, 5\}$  and let  $\varphi : V^2 \to [0, \infty)$  and *k* be a real number such that |k| > 1. Suppose that  $f : V \to Y$  satisfies the inequality (2.3) for all  $x, y \in V$  and f(0) = 0. If there exists 0 < L < 1 such that the mapping  $\varphi$  has the property

$$L\varphi(kx, ky) \ge |k|\varphi(x, y) \tag{2.11}$$

for all  $x, y \in V$ , then there exists a unique mapping  $F : V \to Y$  satisfying  $D_iF(x,y) = 0$  for all  $x, y \in V$  and (2.9) for all  $x \in V$ . In particular, F is represented by (2.10) for all  $x \in V$ .

*Proof.* Let the set (S, d) and the mapping  $J : S \to S$  be as in the proof of Theorem 2.5. Let  $g, h \in S$  and let  $K \in [0, \infty]$  be an arbitrary constant with  $d(g, h) \leq K$ . From the definition of d, we have

$$\|Jg(x) - Jh(x)\| \le |k| K \Psi_i\left(\frac{x}{k}\right) \le L K \Psi_i(x)$$

for all  $x \in V$ . So

$$d(Jg, Jh) \le Ld(g, h)$$

for any  $g, h \in S$ . That is, J is a strictly contractive self-mapping of S with the Lipschitz constant L. Moreover, by (2.2) and (2.3), we see that

$$||f(x) - Jf(x)|| = ||E'_i f(x)|| \le \Psi_i(x)$$

for all  $x \in V$ , which implies that  $d(f, Jf) \leq 1 < \infty$ . Therefore according to Theorem 2.1, the sequence  $\{J^n f\}$  converges to the unique fixed point F of J in the set  $T := \{g \in S | d(f,g) < \infty\}$ , which is represented by (2.10) for all  $x \in V$ .

Notice that

$$d(f,F) \le \frac{1}{1-L}d(f,Jf) \le \frac{1}{1-L}$$

which implies (2.9). From the definition of F(x), (2.3), and (2.11), we have

$$\begin{aligned} \|D_i F(x,y)\| &\leq \lim_{n \to \infty} \frac{|k|^n + |k|^{4n}}{2} \left( \varphi\left(\frac{x}{k^n}, \frac{y}{k^n}\right) + \varphi\left(-\frac{x}{k^n}, -\frac{y}{k^n}\right) \right) \\ &\leq \lim_{n \to \infty} \frac{(|k|^{3n} + 1)L^n}{2} \left( \varphi(x,y) + \varphi(-x, -y) \right) \\ &= 0 \end{aligned}$$

for all  $x, y \in V$ . So F satisfies  $D_iF(x, y) = 0$  for all  $x, y \in V$ . Notice that if F satisfies the functional equation  $D_iF(x, y) = 0$ , then the equality  $F(x) - JF(x) = E'_iF(x)$  implies that F is a fixed point of J.  $\Box$ 

#### References

- M. Arunkumar, S.H. Latha and C. Saidapet, Orthogonal stability of 2-dimensional mixed type additive and quartic functional equation, Int. J. Pure Appl. Math., (2010), 461–470.
- [2] A. Bodaghi, Stability of a mixed type additive and quartic functional equation, Filomat, 28(8) (2014), 1629–1640.
- [3] A. Bodaghi, Approximate mixed type additive and quartic functional equation, Bol. Soc. Paran. Mat., 35(1) (2017), 43–56.
- [4] L. Cădariu and V. Radu, Fixed points and the stability of quadratic functional equations, An. Univ. Timisoara Ser. Mat.-Inform., 41 (2003), 25–48.
- [5] L. Cădariu and V. Radu, On the stability of the Cauchy functional equation: a fixed point approach in Iteration Theory, Grazer Mathematische Berichte, Karl-Franzens-Universitäet, Graz, Austria, **346** (2004), 43–52.
- [6] J.B. Diaz and B. Margolis, A fixed point theorem of the alternative for contractions on a generalized complete metric space, Bull. Amer. Math. Soc., 74 (1968), 305–309.
- [7] A. Ebadian, A. Najati and M. Eshaghi Gordji, On approximate additive-quartic and quadratic-cubic functional equations in two variables on abelian groups, Results. Math., 58 (2010), 39–53.
- [8] P. Găvruta, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl. 184 (1994), 431–436.

Stability of the functional equations related to an additive and quartic mapping 259

- M.E. Gordji, Stability of a functional equation deriving from quartic and additive functions, arXiv preprint arXiv:0812.5025, (2008).
- [10] D.H. Hyers, On the stability of the linear functional equation, Proc. Natl. Acad. Sci. USA, 27 (1941), 222–224.
- [11] S.Y. Kang, S.W. Kim, D.H. Lee, B.J. Son, C.K. Park and H.A. Kenary, Orthogonal stability of an additive-quartic functional equation in non-Archimedean spaces, J. Nonlinear Anal. Appl., 2012 (2012), Article ID jnaa-00123, 1–14.
- [12] H. Azadi Kenary and A. Ghaffaripour, On the HUT-IRT stability and superstability of a generalized additive functional equation in quasi-Banach spaces, Nonlinear Funct. Anal. Appl., 22(2) (2017), 229-242.
- [13] H. Lee, S.W. Kim, B.J. Son, D.H. Lee and S.Y. Kang, Additive-quartic functional equation in non-archimedean orthogonality spaces, Korean J. Math., 20 (2012), 33–46.
- [14] Y.-H. Lee and S.-M. Jung, A general theorem on the fuzzy stability of a class of functional equations including quadratic-additive functional equations, Nonlinear Funct. Anal. Appl., 23(2) (2018), 353-368.
- [15] C.K. Park and Th.M. Rassias, Fuzzy stability of an additive-quartic functional equation: a fixed point approach, In Functional Equations in Mathematical Analysis, Springer, New York, NY. (2011) 247–260.
- [16] B.M. Patel, Stability of a quartic and additive functional equation in a 2-Banach space, Int. J. Math. Soft Computing, 4(2) (2014) 19–31.
- [17] Th.M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc., 72 (1978), 297–300.
- [18] V.J. Sudhakar, V. Arasu and C. K. Park, Stability of an additive-quartic functional equation in orthogonality spaces, Science and Humanities, 1 (2015), 19–32.
- [19] S.M. Ulam, Problems in Modern Mathematics, Wiley, New York, 1964.